(BEERE MERIEHN P L EE TII "BOW " H0y) BEEE P L 2|2 2WOO0SH LM

VWVEN | F¥sk c6 '8 1% 1< 1< 1< 6C K3 Ge 2 € 2 s ol
VEY | WEk 6 8 1% 1< 1< 1< 0¢ €€ 9¢ z g > t-3—=hr%2| 6
VWEN | F¥sk c6 6'8 1% 1< 1< 1< 6 L'e 8¢ 2 2 2 wy—| 8
VEN | ¥k c6 8 1% 1< 1< 1< 6¢ €e (7 C € > | L
SEN | HEL 68 V'8 1% 1< 1< 1< ve 9¢ 0¢ Gl 0 2 ww| o
aeEx | mEy 88 '8 1% 1< 1< 1< €¢ €¢ K3 € 9 > gl o
aEY | med 76 88 1% 1< 1< 1< €e 9¢ I'e > > > TR
SENC | HEL 16 6'8 1% 1< 1< 1< 6¢ 6¢ L'e 23 23 > 227 ¢
VEN ¥k c6 8'8 1% 1< 1< 1< 0¢ K3 87c z L > 1ETO| ¢
ag | mw 1'6 68 1% 1< 1< 1< K3 €e (7 v Gl > s 1
e 161-0 YE i o Bik e [ Bi B [ Bi B A S
Hd (W) B E (1/3w) 309 (1500 1/E)) e B Y FhE Y'Y
BITH8OYE HL hEHO
VYVEN | W¥k L6 g8 1% 1< 1< 1< 6¢ € v’ > z > s ol
YVEN | ¥k L8 6L 1% 1< 1< 1< €2 6¢ 61 > > > £-3-=fr%2| 6
VVEN | HEsk 6 8'8 1% 1< 1< 1< v'e 9¢ I'C [ [ [ wy—| s
VVEN | WHEk 98 €38 1% 1< 1< 1< 44 4 4 > > > wid| £
VEN H¥k 68 '8 1% 1< 1< 1< € 8¢ (% 6 o€ 2 ww| o
vEN | mEsk 1'6 '8 1% 1< 1< 1< ) €e L? ¥ 6 > wal o
VWVEN | H¥k V'8 V'8 1% 1< 1< 1< Ve Ge 2e 23 23 > ozl v
SEN | HEL L8 g8 1% 1< 1< 1< L'e ze € 2 € 2 22%| ¢
VVEN | ¥k ¢8 6L 1% I< 1< 1< 61 4 L'l [ [ [ FETIIO ¢
VVEN | F¥sk c8 €L 1% 1< 1< 1< gl Z 91 2 2 2 wow| |
2 ik LG1-0 el e 24 S X N e ¥& g Gtats ¥ Iz 5N
Hd (W) EIHE (1/34)@00 (lwool/E)) B EYUY HE Y'Y

By HeoGEthH EEHe
EHAME L6 WA L

o 2 B N Er §N(8)

— 145 -



(BEER S MR E AN TLEE T BT " H 0 EEEE W L2 2WO00SH M

gaEN ek N 26 98 % 1< 1< 1< ge L'e £e ]} 144 € HO¥| 01
VEN jaeg N 76 6 % 1< 1< 1< L'e € v'e Z € > £—3A-"Hrk2| 6
VEN ey AN g6 26 1% 1< 1< 1< € € 9 € o] o WY —| 8
VWEN | H¥k v'6 76 % 1< 1< 1< € A L' > A3 A M| L
aEN ey N 76 6 % 1< 1< 1< ve L'y 6C Z ol A | 9
aEN jaa)- 1N 4 6 L8 1% 1< 1< 1< G'e L'e L'e 14 L A gl S
a9 ey N 26 6 1% 1< 1< 1< £e Le 6 Ll 8¢ > L8| ¥
aEN ey N 6'8 8L R 1< 1< 1< ) v'e I'e g Ll A 22¥%| ¢
VEN ek N 1'6 6 % 1< 1< 1< 8¢ 1'e Ve Gl ve 9 FETIO| ¢
VEN ek N 6'8 68 % 1< 1< 1< 9¢ 8¢ €c Ge 8 A HIOW| |
e s e \[rEE _— Gi b \[1EE Gi YE \[1E Gi b \[1EE o
Hd (W) EHEE (1/3W)aoo (1W001 /) Wi EE Y F| & &
BT HSAWEL HL bR @
VWWEN | TH¥sk 66 L8 % 1< 1< 1< € €e L'e > € A HO¥| 01
VYVENC | ¥ 6 18 1% 1< 1< 1< L'e 8¢ v'e > [ > £—3A-"fr%2| 6
VEN | Wk 26 6 % I< 1< 1< L'e 8¢ 9¢ > > A WY —| 8
VWEN | H¥sk L8 €8 % 1< 1< 1< ¥4 9¢ €c > € 3 M| L
VEN ey N 8'8 28 1% 1< 1< 1< 6C A 6T 14 8 A | 9
VEN | Wk 26 9'8 % 1< 1< 1< 9 8¢ €¢ > Z o gl S
VVENC | WH¥Esk 9'8 7’8 1% 1< 1< 1< 9¢ L'e v'e A3 [ A L8| ¥
aEY ey N 6'8 L'L % 60 1< Lo ge 8¢ 6 Le 9 3 2% ¢
VWVEN | WL 98 1'8 % 1< 1< 1< A4 4 6'l A3 [ A FEHTII| ¢
VWEN | H¥k 98 9L % 1< 1< 1< 12 rAr4 6l > € A HIOW| |
e s e \[rEE - Gi b \[1EE Gi YE \[IE Gi b \[1EE e
Hd (W) ZHE S (1/3W)aoo (W00 | /E)) gt B Y T & V¢

Bl HOGERHG HEEEH@
B

EHBoexHL )

— 146 —



